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Test of Unit Three
1. ERI%RR: This is a purely problem, not political one.
i i

A. additional
B. advantage
C. announce
D. academic

2% : [academic]

2. EA3%RE: The TOEFL score for entering this program is 600.

A, less
B. sandy

C. stain

D. minimum
2% : [minimum])

3. BAJ%RR: The best example of a paradox is the proverb More , less speed.
150

A. haste

B. range

C. possession

D. purse

2% [haste]

4, ERJERR: This company provides a very good service for its products.
year i

A. maintenance

B. merit

C. philosophy

D. pigeon

£%#: [maintenance)

5. ERJ%ERR: There is more in meat than in vegetables.
17500

A, dam

B. protein

C. cash

D. bloody

2% [protein]

6. ERIERR: Do not in the exam. This will do you no good.
1IN :
A, coin



B. disaster

C. cheat

D. resort
&% [cheat)

7. BAI%RR: Because of the boring , we need to take a vacation every year.
i

A. routine

B. surgery

C. rifle

D. sake

&% [routine]

8. EREER: We need to the purpose of the experiment again.
15610

A, clarify

B. cheek

C. claim

D, clap

=k [Clarify]

9, BSERR: 1 great success for my study in this university.
150 :

A, disgust

B. proceed

C. pioneer

D. anticipate

2% [anticipate]

10. By : From the from this examination, we know it is too easy for the students.
yeird i

A, frost

B. feedback

C. outline

D. overlook

&% [feedback])

11, ER%ERR: He drove very fast to that red car.
17500

A, scatter

B. overtake

C. site

D. sponsor

2% [overtake])

12, ERJ%GER: This is a box with a lid, so I can see what's in there clearly.
1IN :

A. whistle
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